
 © Copy right 2008, Au-ve-co Prod ucts Co. "SINCE 1916" THE  COM PLETE  FAS TENER LINE 287

“6000” SE RIES SMALL DRAWER “FIX-KITS”® Sec. 15

No. 6186 “Fix-Kit”
Oil Drain Plugs & Gas kets

12 Va ri et ies - 80 Pieces

Auveco
Part No. Size

14196 1/2"-20
18373 1/2"-20
18121 1/2"-20 Dou ble Over size
15527 M12-1.25
14677 M12-1.75
18374 M12-1.75
21047 M12-1.75
14678 M14-1.5
16308 M14-1.5 
19279 M14-1.5
19773 M14-1.5
15529 M18-1.5

No. 6043 “Fix-Kit”
Washer Lock Nuts 

& Thread Cut ting Nuts
16 Va ri et ies - 1235 Pieces

Auveco
Part No. Size

2554 #6-32
2555 #8-32
2556 #10-32
2557 #10-24
2560 #12-24
2561 1/4"-20
2562 1/4"-20
2895 1/8" Stud
2896 3/16" Stud
2897 1/4" Stud
3403 1/8" Stud
3404 3/16" Stud
3405 1/4" Stud
8855 5/32" Stud

10733 5/16" Stud
12253 5mm Stud

No. 6164 “Fix-Kit”
Push Nut Bolt Re tainer
8 Sizes - 1350 Pieces

Auveco For Bolt
Part No. Di am e ter

16581 9/64" (#6)
10085 5/32" (#8)
16852 3/16" (#10)
10086 1/4"
10087 5/16"

9297 3/8"
  9298 7/16"
  9299 1/2"

No. 6172 “Fix-Kit”
Met ric Pushnut Bolt Re tain ers &

Push-On Fas ten ers
10 Sizes - 745 Pieces

Auveco Bolt or
Part No. Stud Size

12119 4.0mm Stud
12122 M5-.8
12123 M6-1.0
14980 M6-1.0
12124 M6.3-1.0
12125 M8-1.25
12259 M8-1.25
12126 M10-1.50
12260 M10-1.50
12127 M12-1.75

Re mem ber....

All Items In This

Cat a log Are

Avail able In Bulk.

Call For A Quote.

No. 6086 “Fix-Kit”
Rod End Clips
And “E” Clips

16 Va ri et ies - 560 Pieces

Auveco  Shaft
Part No. Di am e ter

Rod End Clips

3609 5/32" Right Side
3610 5/32" Left Side
3611 3/16" Right Side
3612 3/16" Left Side
3613 1/4" Right Side
3614 1/4" Left Side

“E” Clips

3165 1/8"
3166 3/16"
3167 1/4"
3824 5/16"  Small O.D.
3628 5/16"  Large O.D.
5600 3/8"
2672 7/16"
5602 1/2"
5601 9/16"
5603 5/8"

No. 6123 “Fix-Kit”
“E” & Re in forced “E” Rings

Groove Re quired
24 Va ri et ies - 1500 Pieces

Auveco Shaft
Part No. Dia.  Type

8824 1/16" E Type
8825 3/32" E Type
8836 3/32" Re in forced E
3165 1/8" Re in forced E
8826 1/8" E Type
3166 3/16" Re in forced E
8827 3/16" E Type
3167 1/4" Re in forced E
8828 1/4" E Type
3628 5/16" Re in forced E
3824 5/16" E Type
5600 3/8" Re in forced E
8829 3/8" E Type
2672 7/16" Re in forced E
8830 7/16" E Type
8837 1/2" Re in forced E
5602 1/2" E Type
5601 9/16" Re in forced E
5603 5/8" E Type
8831 3/4" E Type
8832 7/8" E Type
8833 1" E Type
8834 1-3/16" E Type
8835 1-3/8" E Type

www.clipsandfasteners.com

http://www.clipsandfasteners.com

